
Page 1Acolyte is a quality division of GENLED Brands™ | www.GENLEDBrands.com/Home/Acolyte | Acolyte | Architectural Lighting Solutions 

ARMOR SER IES
AC MIN I  INSTALLAT ION GUIDE

1. Tilt the fixture top to one side and position the fixture at the
   desired location.

3. Rotate the fixture in the opposite direction and fasten the
    screws on the other side of the tiltable stand. 

2. Secure the fixture in place by fastening the screws through the  
    screw holes on one side of the tiltable stand.

4. Connect input cable to the power supply. Daisy-chain the
     connector on the opposite end to the next fixture if desired.

Max screw diameter
0.185” (4.7 mm)

Tiltable Stand

6-pin 120V AC + data connector to T-Connector

6-pin power + data connector 
to additional fixture

AC MINI

Tech Support: (+1) 212 629 6830 *301 

Tech@GENLEDBrands.com



Page 2Acolyte is a quality division of GENLED Brands™ | www.GENLEDBrands.com/Home/Acolyte | Acolyte | Architectural Lighting Solutions 

1. Use proper screws (screw size up to 1/4” or M6.5) to mount 
   one extension arm onto the wall.

2. Mount the other arm onto the wall. Make sure the distance (D) is 
    the same as the tiltable stands distance (D) on the fixture.

5. Secure the fixture on the pair of extension arms by fastening the screws in the tiltable stand to the extension arms. 
    (See Step 1-4 for reference)

3. Use L-Key (M4) to loosen the hex socket screws and adjust 
    the inner channels to the desired arm length. Then tighten 
    the screws to secure the inner channels.

4. Loosen the set screws and adjust the position of the tiltable
    stand if it’s misaligned to the extension arms.

hex socket screws

set screws

Note: Mounting arms need to be installed with proper damping hardware in extreme vibration environments

ARMOR SER IES
EXTENSION ARM INSTALLAT ION GUIDE

Tech Support: (+1) 212 629 6830 *301 

Tech@GENLEDBrands.com



Page 3Acolyte is a quality division of GENLED Brands™ | www.GENLEDBrands.com/Home/Acolyte | Acolyte | Architectural Lighting Solutions 

REV.18MAR2022

ARMOR SER IES
GLARE  SHE ILD  INSTALLAT ION GUIDE

Tech Support: (+1) 212 629 6830 *301 

Tech@GENLEDBrands.com

1. Screw the copper standoffs to the Glare Shield using a hex nut 
standoff driver. 

3. Align the screw bosses on the Glare Shield with the screw holes 
on the mounting bracket. 

4. Put the copper standoff through the lower screw hole on the 
mounting bracket. Fasten the flathead screw through the top slot 
in the mounting bracket into the Glare Shield.  

5. Repeat steps on the opposite side of the fixture. 6. Tighten/loosen the flathead screws and rotate the Glare Shield 
until it is set at the desired angle. 

loosen to rotate

2. Slide the Glare Shield mounting bracket onto the fixture near the 
end cap. Be sure not to cover any LEDs. Secure the Glare Shield 
by fastening screws to the side of the bracket. 

 
                                  DLAGS-LENGTH-xx 

______________________________________________________________________________________________________________________________________  

  Support: Info@lumilime.com                                               Edition: 2021 Q4        2 / 4 
  System Comet Limited reserves the right to make changes to this product without prior notice.  
  Please consult factory for the most updated version.      

Installation Guide Anti-glare Shield 

Installation Steps  : 

1, Screw the copper hex standoffs to the anti-glare shield with a M3 hex nut standoff driver 

2, Secure the ear stand to the fixture by fasten the round head machine screw on one side 

 
                                  DLAGS-LENGTH-xx 

______________________________________________________________________________________________________________________________________  

  Support: Info@lumilime.com                                               Edition: 2021 Q4        1 / 4 
  System Comet Limited reserves the right to make changes to this product without prior notice.  
  Please consult factory for the most updated version.      

Installation Guide Anti-glare Shield 

Dimension  : 

List of Accessories 
Item  Picture  Type  Qty (pcs) 

1 Ear Stand 2 

2 
M3 flat head 

screw 2 

3 
 copper hex 

standoffs 
2 

4 
M3 round head 
machine screw 4    

                                  DLAGS-LENGTH-xx 
 

______________________________________________________________________________________________________________________________________                           
                                                         Support: Info@lumilime.com                                               Edition: 2021 Q4                                                               3 / 4 
                                                         System Comet Limited reserves the right to make changes to this product without prior notice.                                                         
                                                         Please consult factory for the most updated version.                    
 

Installation Guide Anti-glare Shield 

3) Mount the anti-glare shield through the ear stand, then fasten the M4 flat head screw through the 
ear stand on the other side.  

 

 

 

 

 

 

 

 

 

 

 

 

   
                                  DLAGS-LENGTH-xx 
 

______________________________________________________________________________________________________________________________________                           
                                                         Support: Info@lumilime.com                                               Edition: 2021 Q4                                                               3 / 4 
                                                         System Comet Limited reserves the right to make changes to this product without prior notice.                                                         
                                                         Please consult factory for the most updated version.                    
 

Installation Guide Anti-glare Shield 

3) Mount the anti-glare shield through the ear stand, then fasten the M4 flat head screw through the 
ear stand on the other side.  

 

 

 

 

 

 

 

 

 

 

 

 

attach to bracket

mounting bracket

hex nut standoff driver

 
                                  DLAGS-LENGTH-xx 

______________________________________________________________________________________________________________________________________  

  Support: Info@lumilime.com                                               Edition: 2021 Q4        2 / 4 
  System Comet Limited reserves the right to make changes to this product without prior notice.  
  Please consult factory for the most updated version.      

Installation Guide Anti-glare Shield 

Installation Steps  : 

1, Screw the copper hex standoffs to the anti-glare shield with a M3 hex nut standoff driver 

2, Secure the ear stand to the fixture by fasten the round head machine screw on one side 
   
                                  DLAGS-LENGTH-xx 
 

______________________________________________________________________________________________________________________________________                           
                                                         Support: Info@lumilime.com                                               Edition: 2021 Q4                                                               3 / 4 
                                                         System Comet Limited reserves the right to make changes to this product without prior notice.                                                         
                                                         Please consult factory for the most updated version.                    
 

Installation Guide Anti-glare Shield 

3) Mount the anti-glare shield through the ear stand, then fasten the M4 flat head screw through the 
ear stand on the other side.  

 

 

 

 

 

 

 

 

 

 

 

 

 
                                  DLAGS-LENGTH-xx 

______________________________________________________________________________________________________________________________________  

  Support: Info@lumilime.com                                               Edition: 2021 Q4        2 / 4 
  System Comet Limited reserves the right to make changes to this product without prior notice.  
  Please consult factory for the most updated version.      

Installation Guide Anti-glare Shield 

Installation Steps  : 

1, Screw the copper hex standoffs to the anti-glare shield with a M3 hex nut standoff driver 

2, Secure the ear stand to the fixture by fasten the round head machine screw on one side 


